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Q  |QUESTION 3 | | i & |
=~ |Inventory record card for Material K in January / | _“|
- AVCO b { mput) _ (Output ) Balance

|pate Details  |Units  |CPU Total Units Total Units  |CPU Total
01-Jan|Balance 300 7 21000
03-Jan|Purchases 200 7.25 1450 500 7.1 3550 |
06-Jan{feceipts) 300 7.1 2130 200 7.1 1420\

~1ldan Purchases 200 7.5 1500 400 7.3 2920(]|

~ 16Jan|Receipts) 250 7.3 1825 150 7.3 1095/ y
25-Jan|Returns 100 7.5 750 50 6.9 345/ | L"/ b

Ay One advantagé to using AVCO is that its easy to calculate, One disadvantage to using AVCO is that the average CPU

S calculated could mean you don't get paid what the material is worth. O C‘f 1
[ .

Process account for Process 3 in January

Process 3 input Output s Balance

Details Unigs CPU Total Units cPU Total Units CPU Total

From Process 2 T 1000 10| 10000 1000 10| 10000

Material ¥ 2000 6 12000| | B 3000 7.3 22000

Labour 5000 3000 9.0 27000

Fixed overheads 2700|\ 3000 .99 29700

Variable overheads 2000} | 3000 10.6 31700

Closing WIP 600 7550] { 2400 10.1 24150

Normal loss 120 ] 600} 2280 10.3 23550

Transfer to stores 2200 ) 80 .

Abnormal loss | 80 05 400 5 /8

Abnormal loss account for Process 3 in January / ) I

Process3 nput ‘Output Balance

Details Urits cPU Total Units CPU Total Units cPU Total

From Process 3 80 3 400{ {¢ 80 5 400

Hne | 2 i
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